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3(B). The gfgfgsi;a"gr "3(’:“1"“’““"“ during the last 3 years are Z 20,000 ;
of € 5,00:.)0 gts i o las); . J;Vea :s culate the value of goodwill if it is based on 2 years’ purchase of the
' [Ans. Valuation of Goodwill T 30,000}

The profits earned by a business during the last five years are z 10,000 ; T 9,000 ;
hase of

a
3(©);
¢8,000: % 1%%)3 g't!‘:hi 7,000 (1oxe), Find out the valus of goodwill if it is based on 3 years purc
ael\'ﬂ"ge P % hagb {Ans. Value of Goodwill Z 21,000]
4. Calculate f: aﬂx:lo;mt of Goodwill by 3 years’ purchase of the last four years’average profits. The
and losses for the ast 4 years were : 1st year T 5,000 ; 2nd year T 8,000 ; 3rd year Z 3,000 (Loss)
il Z 12,000.]

pofits and 1
r;ﬁﬂ year < 6,000. {Ans. Value of Goodw

5, Ram and Shyam are partners. They disclosed the profits for the last three years as follows
2013: ¥ 19,000 (Including an abnormal gain of X 4,000) |
2014 : 3 25,000 (After charging an abnormal loss of ¥ 2,000)
2015 : X 33,000 (Excluding ¥ 3,000 as insurance premium of the firm)

. Calculate the value of the firm’s Goodwill on the basis of 2 years purchase of the average profits for
 ghe last 3 yﬂ“ﬁ i [Ans. Value of Goodwill 48,000.)
6. The profits of 2 rm for the year ended 31st March for the last four years were as follows— 2013
215,400 ; 2014 Z 17,600 ; 2015 X 23,400 and 2016 T 24,620. 4
__ the value of goodwill on the basis of three years’ purchase of weighted average profits after
weights 1,2, 3 and 4 respectively to the profits for 2013, 2014, 2015 and 2016.
- (Based on N.C.E.R.T. Text Books)

[Ans. Weighted Average Profits T 21,928 ; Goodwill T 65 ,184]

Z 30,000 and there is a loss

(@) Super Profit Method :
amounted to T 9,000. The normal commerical

7. The average profit of a business over the five years
cemed to be 10% p.a. The net capital invested in the

+eld on capital invested in such a business is d
‘business is T 60,000. Find out the value of goodwill of the business if it is based on three years’ purchase
[Ans. Value of Goodwill ¥ 9,000.]

of the average Super profits of the last 5 years.
ABC firm are ¥ 36,000 per year. The average

8(A). The average net profits expected in the future by
capital employed in the business by the firm is I 2,00,000. The rate of interest expected from capital

invested in this class of business is 10%. The remuneration of the partners is estimated to be
76,000 p.a. Find out the value of goodwill on the basis of two years purchase of super profits.
Y [Ans. Value of Goodwill Z 20,000.)

"'_ 8(B). The average profits of a firm is ¥ 60,000. The total Assets of the firm are Z 9,00,000 and value
of other liabilities is Z 5,00,000. Noraml rate of Return in the same business is 10% p-2. Find out the valu
[Ans. Goodwill X 60,000.

of goodwill on the basis of three years purchase of super profits.
9. A Partnership firm earned net profits during the last 4 years as follows : 2013 T 16,000 ; 201
£ 12,000 ; 2015 % 20,000 ; and 2016 X 24,000.
~ The Capital investment in the firm throughout the above mentioned period has been X 50,000. T
- - is deemed Find out the value of goodwill of !












